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Define Management Accounting and discuss its Characteristics and Scope in Detail.
Of

Differentiate between Cost Accounting, Management Accounting and Financial

Accounting. :

Following information is available from the books of MadhavCo. Ltd.

Particulars 40% Capacity - | 60% Capacity
Direct Materials as. 80,000 1,20,000
Direet Labour 5. 32,000 48,000
Direct Expenses fAs. . C 12,000 18,000
Overheads Rs. 18,000 22,000
Repairs & Maintenance As. 9,000 11,000
Depreciation Rs. 7,000 7,000
Rent fs: 3,000 ‘ 3,000
Sales Bs. 2,00,000 3,00,000

Prepare Flexible budget at 50%, 80% und 100% production capacity.

OR _
From the following details of Keshav Itd, prepare cash budget from April to June, 2022,
1. Estimated cash balance on 1-4-2022 was Rs. 70,000

2. Other information :
Fixed Varinble
Monsh Sales Purcliases Wages Overheads Overheads
February 4,060,000 1,80,000 60,000 25,000 40,000
March 5,40,000 2,406,000 80,000 25,000 56,000
April 6,00,000 2,70,060 50,000 25,000 60,000
May 5,50,000 2,50,000 84,000 25,000 56,000
Jume . 6,20,000 2.80,600 94,000 25,000 62,000

3. Sales :25% cash
75% credit (Credit period offered to customers — I month)
4, Purchases : 20% cash
80% credit (Credit period allowed by suppliers — 2 months)

5. Time log :--- Wages - % month , Variable Overhead - % month
6, Dividend amount likely to be received in the rmonth of June is Rs. 30,000
7. Monthly Fixed Overheads include depreciation of Rs. 5,000,

(P-T4)

[18]
[18]

(173

(17




Q3

Q3

Q4

Following information has been extracted from the books of Nityam Ltd. [18]

Year Sales Rs.) | Profit(Rs.)
2021 45,00,000 9,00,000
2022 60,00,000 15,00,000
Calculate:
1. P/V Ratio
2. Fixed Cost
3. Break Even Point ,
4. Profit/Loss on at sales of Rs. 3,00,000 and Rs, 15,00,000
5. Required sales to earn profit Rs.6,00,000
6. Sales at loss of Rs.1,80,000
7. Margin of safety for both years
OR
ABC Ltd provides following information: [18]
¢ Sales Price Per Unit: Rs.250 ‘
¢ Variable Cost Per Unit; Rs.123
e Fixed Cost: Rs. 7,50,000
¢ Sales volume: 5000 ynits

Calculate P/V Ratio, Break Even Point and Margin of Safety for above details and show
the effect of following changes on same (other factors remains unchanged)

1. 20% increase in Sales Price.

2. 12% Decrease in Variable Costs.

3. Fixed costs increased by Rs.5,00,000.

4. Sales Price decreased by 10% and Sales Volume Increased by 10%,

5. Sales Price Increased by 10% and Sales Volume Decreased by 12%.

Product mix for production of a product is as follows ¥
Raw Material KG Price Per KG (Rs.)
A 5 7.50
B 2 6.00
C 3 15.00

The wastage of product is 10% of input. Scrap value is zero. Actual production was 270
kg. Actual cost and usage of raw materials is as follows.

Raw Material KG Price Per KG(Rs.)
A 160 8.25
B 60 5.50
C 100 14.25

You are requiiréd to calculaie following

- Material Cost Variance (MCV)
Material Usage Variance (MUV)
Material Yield Variance (MYV)
Material Mix Variance (MMV)
Material Price Variance (MPV)
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Data about labour employed in a factory to produce one unit of product ABC is as

follows:

Heurs Wages Rate | Total Payment
(Rs.) (Rs.)
Skilled Workers 10 3.00 30,00
Unskilled Workers 16 1,00 16.00
Semi-skilted workers 8 1.50 12,00
58.00
Actual Situation: Actual Production — 200 units.
Hours Wages Rate | Total Payment
(Rs.) (®s))
Skilled Workers 1800 4.00 7200
Unskilled Workers 4000 0.90 3600
Semi-skilled wofkers 1630 1.50 2520
- 13,320

Calculate following variances from above information:

Labour Cost Variance (LCV)

Labour Mix Variance (LMV)
Labour Rate Variance (LRV)

o

—

Labour Efficiency Variance (LEV)
Labour Yield Variance (LYV)
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